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Heat Inc. has following information:

I 4 Cost Retail
Purchasc rétums 7 $90,000 | $120,000
Gross sales V(izriifter employee discounts) 2,110,000 |
Markups R 180,000
Freight-in 63,000 N

WPﬂurchasc discounts 27,000
Markup canéellalions 60,60()
Employece discounts granted 7 12,000
Malkdowns 65,()()0_
Sales returns / 7 145,06(7
Purchases ' 1,369,000 | 2,050,000

» Loss fr om nolmal breakage 8,0004
Inventory, 12/31/2015 | 375,000 | 550,000
7Mzu‘kdowrn szcellations 30,007(7)?J

Requirement: Apply conventional retail inventory method to compute the cost of its ending

inventory at December 31, 2016.
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